SBI PROBATIONARY OFFICER EXAM

REASONING (HIGH LEVEL

Directions (1-8) : Read each
statement carefully and answer the
following questions : °*

1. Which of the following expres-
sions will be true if the expres-
sionR> 0O =A > S < Tis defi-
nitely true ?
(1HO>T
B)T>A
(B)T<R

2. Which of the following sym-

bols should replace the ques-
tion mark (?) in the given ex-
pression in order to make the
expressions ‘P > A’ as well as
‘T < L’ definitely true ?
P>L?A>N-=T

M < 2>

(8) < 4>

(5) Either < or <

Which of the following sym-
bols should be placed in the
blank spaces respectively (in
the same order from left to
right) in order to complete the
given expression in such a
manner that makes the ex-
pressions ‘B > N' as well as
‘D < L definitely true ?

B_L O_N_D

(2)S<R
4s=0

M==22 2>2-=>
(3) > <=5 8 (4) > ==, 2
5} > = 2>

4. Which of the following should
be placed in the blank spaces
respectively (in the same order
from left to right) in order to
complete the given expression
in such a manner that makes
the expression ‘A < P’ definite-
ly false ?

< < >

(WL N,P,A (2L, APN
3A'LLPN 4NAPL
(B)P,N,A L

8. Which of the following symbols
should be placed in the blank
spaces respectively (in the
same order, from left to right)
in order to complete the given
expression in such a manner
that makes the expression
‘F > N and ‘U > D' definitely

false ?
F_O_U_N _D
<< >= 2« = = >
Bl<==< @=2=-=2
5) >, > = <

Directions (6-10) : Study the
following information and answer
the following questions :

A,B,C,D,E, Gand]I are sev-
en friends who study in three dif-
ferent standards namely 5th, 6th
and 7th such that not less than two
friends study in the same standard.
Each friend alse has a different
favourite subject namely History,
Civics, English, Marathi, Hindi,
Maths and Economics but not nec-
essarily in the same order.

A likes Maths and studies in
the 5th standard with only one other
friend who likes Marathi. I studies
with two other friends. Both the
friends who study with I like lan-
guages (Here languages include only
Hindi, Maratht and English}. D
studies in the 6th standard with
only one person and does not like
civics. E studies with only one
friend. The one who likes history
does not study in 5th or 6th stan-
dard. E does not like languages. C
does not like English, Hindi or Civ-
ics.

6. Which combination represents
E’s favourite subject and the
standard in which he studies ?
(1) Civics and 7th
(2) Economics and 5th
(3) Civics and 6th
(4) History and 7th
{5) Economics and 7th

7. Which of the following is I's
favourite subject ?
(1) History (2) Civics
(3) Marathi
{4) Either English or Marathi
(5) Either English or Hindi
8. Who amongst the following
studies in the 7th standard ?
)G (2)C
(3JE (4D
(5) Either D or B
9. Which of the following combi-
nations is definitely cor-
rect ?
(1) I and Hindi
(2) G and English
(3) C and Marathi
(4) B and Hindi
(5) E and Economics
Which of the following sub-
Jjects does G like ?
(1) Either Maths or Marathi
{2) Either Hindi or English
(3) Either Hindi or Civics
(4) Either Hindi or Marathi
(5) Either Civics or Economics
Directions (11-15) : Study the
information and answer the follow-
ing questions:
In a certain code language —
‘economics is not money’ is
written as, ‘ka la ho ga’
‘demand and supply econom-
ics’ is written as, ‘mo ta pa ka’
‘money makes only part’ is
written as, ‘zi 1a ne ki’
‘demand makes supply eco-
nomics’ is written as, ‘zi mo ka ta’
11. What is the code for “money”

10.

in the given code language ?
(1) ga (2) mo

(3) pa (4) ta

(5)1a

12. What is the code for “supply”
in the given code language ?

(1) only ta (2) only mo
{3) either pa or mo



(4) only pa
(5) either mo or ta

13. What may be the possible code
for “demand only more” in the
given code language ?
{(1)xi nemo (2)mo zi ne
(3Jkinemo (4)mo zi ki
(5) xi ka ta

14. What may be the possible code
for ‘work and money’ in the
given code language ?

(l)pagala (2)palatu
(Bmolapa (4)tulaga
(5) palane

15. What is the code for ‘makes’
in the given code language ?

(1) mo {2) pa
(38)ne (4) zi
(5) ho

Directions (16-20) : Study the
given information and answer the
following questions :

When a word and number ar-
rangement machine is given an in-
put line of words and numbers,, it
arranges them following a particu-
lar rule. The following is an illus-
tration of input and rearrangement:
(All the numbers are two digit
numbers)

Input : 40 made butter 23 37
cookies salt extra 52 86
92 fell now 19

: butter 19 40 made 23 37
cookies salt extra 52 86
92 fell now

: cookies 23 butter 19 40
made 37 salt extra 52 86
92 fell now

Step I : extra 37 cookies 23 butter

1940 made salt 52 86 92
fell now
Step IV : fell 40 extra 37 cookies 23
butter 19 made salt 52 86
92 now
: made 52 fell 40 extra 37
cookies 23 butter 19 salt
86 92 now
Step VI : now 86 made 52 fell 40 ex-
tra 37 cookies 23 butter
19 salt 92

Step VII: salt 92 now 86 made 52
fell 40 extra 37 cookies 23
butter 19

Step VIl is the last step of the
above arrangement as the intended
arrangement is obtained.

Step 1

Step 11

StepV

As per the rules followed in the
given steps, find out the appropri-
ate steps for the given input.
Input : 32 proud girl beautiful

48 55 97 rich family 61

72 17 nice life
16. How many steps will be re-
quired to complete the given

input ?

(1) Five (2) Six
(5 Seven (4) Eight
{5} Nine

17. Which of the following is the
third element from the left end

of step VI ?

(1) beautiful (2)life
(3)61 (4) nice
(5) 17

18. Which of the following is step

II of the given input ?

(1) proud 72 girl 48 family 32
beautiful 17 55 97 rich 61
nice life

(2) life 55 girl 48 family 32
beautiful 17 proud 97 rich
61 72 nice

(3) girl 48 family 32 beautiful
17 proud 55 97 rich 61 72
nice life

(4) family 32 beautiful 17
proud girl 48 55 97 rich 61
72 nice life

(5) girl 48 life 55 family 32
beautiful 17 proud 97 rich
61 72 nice

19. What is the position of “nice”
from the left end in the final

step ?
(1) Fifth (2) Sixth
(3) Seventh  (4) Eighth
{5) Ninth
20. Which element is third to the

right of ‘family’ in Step V ? *
(1) beautiful (2) 17
(3) proud (4)97
(5) 32
Directions (21-25) : Read the
information carefully and answer
the following questions:
IfA + Bmeans A is the father of B
If A x Bmeans Ais the sister of B
If A 8 B means A is the wife of B
If A % B means A is the mother
of B
If A + B means A is the son of B

21. What should come in place of
the question mark (?} to estab-
lish that J is the brother of T
in the expression ?
J+P%WH?T%L
(1) x 2) +
38
(4) Either + or x
(5) Either + or +
22. Which among the given ex-
pressions indicate that M is the
daughter of D ?
(L% RSD+TxM
2QL+RSD+MxT
BIL%YR%D+T+M
4D+LSR+MxT
BILSD+R%WM=T
23. Which among the following
options is true if the expres-
sion‘1+ T % J x L + K' is defi-
nitely true ?
(1) L is the daughter of T
(2) K is the son-in-law of I
(3) Iis the grandmother of L
(4) T is the father of J
{5) J is the brother of L
24. Which among the following
expressions is true if Y is the
son of X is definitely false ?
MW%RLxTxY+X
RW+LxTxY+X
B} X+LxTxY+W
BMWSX+L+Y+T
BYWPX+TxY=+L
25. What should come in place of
the question mark (?) to estab-
lish that T is the sister-in-law
of Q in the expression ?
R%TxP?2Q+V
(1) + (2) %
(3) x 4s
{5) Either S or x
Directions (26-30) : Study the
following information and answer the
questions given below :
Eight people - E, F, G, H, J,
K, L and M are sitting around a cir-
cular table facing the centre. Each
of them is of a different profession -
Chartered Accountant, Columnist,
Doctor, Engineer, Financial Ana-
lyst, Lawyer, Professor and Scientist
but not necessarily in the same or-
der. F is sitting second to the left of
K. The Scientist is an immediate



neighbour of K. There are only three
people between the Scientist and E.
Only one person sits between the
EZngineer and E. The Columnist is
-0 the immediate right of the Engi-
neer. M is second to the right of K.
H is the Scientist. G and J are im-
mediate neighbours of each other.
Neither G nor J is an Engineer. The
Tinancial Analyst is to the immedi-
ate left of F. The Lawyer is second
‘0 the right of the Columnist. The
Jrofessor is an immediate neighbour
:f the Engineer. G is second to the
=ght of the Chartered Accountant.

26. Who is sitting second to the

right of E ?
(1) The Lawyer
2)G (3) The Engineer
4)F (B K
27. Who amongst the following is
the Professor ?
mF @@L
B M @K
B)J

Four of the following five are
alike in a certain way based on
the given arrangement and
hence form a group. Which of
the following does not belong
to that group ?
(1) Chartered Accountant - H
(2} M - Doctor
(3)J - Engineer
(4) Financial Analyst - L
(5) Lawyer - K
29. What is the position of L with
respect to the Scientist ?
(1) Third to the left
(2) Second to the right
(3) Second to the left
(4) Third to the right
(5) Immediate right
30. Which of the following state-
ments is true according to the
given arrangement ?
(1) The Lawyer is second to the
left of the Doctor
(2) E is an immediate neigh-
bour of the Financial Ana-
lyst
(3)H sits exactly between F
and the Financial Analyst
(4) Only four people sit be-
tween the Columnist and F
(5) All of the given statements
are true

Directions (31-35) : In each of
the questions below, two/three
statements are given followed by
conclusions/group of conclusions
numbered I and II. You have to as-
sume all the statements to be true
even if they seem to be at variance
from the commonly known facts and
then decide which of the given two
conclusions logically follows from
the information given in the state-
ments.

Give answer (1) if only conclu-
sion I follows

Give answer (2) if only conclu-
sion II follows

Give answer (3) if either I or I
follows

Give answer (4) if neither I nor
II follows

Give answer (5) if both I and II
follow

Directions (31-32) :

Statements :

Some squares are circles.

No circle is a triangle.

No line is a square.

31. Conclusions:

I. All squares can never be tri-
angles.

II. Some lines are circles.

Conclusions :

1. No triangle is a square.

II. No line is a circle.

Directions (33-34)

Statements :

All songs are poems.

All poems are rhymes.

No rhyme is a paragraph.

. Conclusions :

I. No song is a paragraph.

II. No poem is a paragraph.
. Conclusions:

I. All rhymes are poems.

II. All songs are rhymes.

. Statements :

Some dews are drops.

All drops are stones.

Conclusions :

1. Atleast some dews are

stones.

II. Atleast some stones are

drops.

Directions (36-38) : Each of the
questions below consists of a ques-
tion and two statements numbered
I and II given below it. You have to
decide whether the data given in the
statements are sufficient to answer
the questions. Read both the state-
ments and —

32.

Give answer (1) if the data in
statement I alone are sufficient to
answer the question, while the data
in statement II alone are not suffi-
cient to answer the question.

Give answer (2) if the data in_
statement II alone are sufficient to
answer the question, while the data
in statement I alone are not suffi-
cient to answer the question.

Give answer (3) if the data ei-
ther in statement I alone or state-
ment II alone are sufficient to an-
swer the question.

Give answer (4) if the data
neither in statement I nor II togeth-
er are sufficient to answer the ques-
tions.

Give answer (5) if the data in
both statements I and Il together
are necessary to answer the ques-
tions.

38. Seventeen people are standing
in a straight line facing south:
What is Bhavna’'s position
from the left end of the line ?

1. Sandeep is standing second to
the left of Sheetal. Only five
people stand between Sheetal
and the one who is standing
at the extreme right end of the
line. Four people stand be-
tween Sandeep and Bhavna.

II. Anita is standing fourth to the
left of Sheetal. Less than three
people are standing between

Bhavna and Anita.

Five letters - A, E, G, Nand R

are arranged left to right ac-

cording to certain conditions.

Which letter is placed third?

1. G is placed second to the right
of A. E is to the immediate
right of G. There are only two
letters between R and G.

II. N is exactly between A and G.
Neither A nor G is at the ex-
treme end of the arrangement.

. Six people - S, T, U, V, W and
X are sitting around a circular
table facing the centre. What
is T's position with respect to
X?

1. Only two people sit between U
and W. X is second to the left
of W. V and T are immediate
neighbours of each other.

II. T is to the immediate right of
V. There are only two people
between T and S. X is an im-
mediate neighbour of S but
not of V.

37

-



Directions (38-40) : Read the
following information carefully and
answer the given questions :

The convenience of online
shopping is what I like best about
it. Where else can you shop even at
midnight wearing your night suit ?
You do not have to wait in a line or
wait till the shop assistant is ready
to help you with your purchases. It
is a much better experience as com-
pared to going to a retail store — A
consumer’s view.

38. Which of the following can be

a strong argument in favour

of retail store owners ?

(1) Online shopping portals
offer a great deal of dis-
counts which retail stores
offer only during the sale
season

(2) One can compare a variety
of products online which
cannot be done at retail
stores

(3) Many online shopping por-
tals offer the ‘cash on de-
livery' feature which is for
those who are sceptical
about online payments

(4) Many consumers prefer
shopping at retail stores
which are nearer to their
houses

(5) In online shopping the cus-
tomer maybe deceived as he
cannot touch the product
he is paying for.

. Which of the following can be
inferred from the given infor-
mation ? (An inference is some-
thing that is not directly stated
but can be inferred from the giv-
en information)

(1) One can shop online only
at night

(2) Those who are not comfort-
able using computers can
never enjoy the experience
of online shopping

(3) All retail stores provide
shopping assistants to each
and every customer

{4) The consumer whose view
is presented has shopped at
retail stores as well as on-
line

(5) The consumer whose view
is presented does not have
any retail stores in her vi-
cinity

Read the following information

carefully and answer the given

question :

Many manufacturing compa-

nies are now shifting base to

the rural areas of the country
as there is a scarcity of space
in urban areas. Analysts say

that this shift will not have a

huge impact on the prices of

the products manufactured by
these companies as only about

30% consumers live in urban

areas.

Which of the following maybe

a consequence of the given in-

formation ?

(1) The prices of such products
will decrease drastically in
the urban areas

(2) People living in urban ar-
eas will not be allowed to
work in such manufactur-
ing companies

{3) These manufacturing com-
panies had set-ups in the
urban areas before shifting
base

{4) Those who had already mi-
grated to the urban areas
will not shift back to rural
areas

{5) The number of people mi-
grating from rural to urban
areas in search of jobs may
reduce

Read the following information

carefully and answer the given

question:

‘Pets are not allowed in the

park premises’ - A notice put

up at the park entrance by the
authority that is responsible
for maintenance of the park.

Which of the following can be

an assumption according to the giv-

en information ? (An assumption is
something that is supposed or taken
for granted)
(1) At least some people who
visit the park have pets.
(2) This is the only park which
does not allow pets

41.

42,

(3) People who ignored this
notice were fined
{4) There are more than one
entrances to the park
(5) Many people have now
stopped visiting the park
Directions (43—45) : Read the
following information carefully anc
answer the given questions :
Despite repeated announce-
ments that mobile phones were no:
allowed in the examination hall.
three students were caught with
their mobile phones.

(A) Mobile phones nowadays

have a lot of features anc
it is easy to cheat with their
help .
The invigilator must imme-
diately confiscate the mo-
bile phones and ask the stu-
dents to leave the exam hal
immediately.
Mobile phones are very ex-
pensive and leaving them in
bags outside the exam hall
is not safe.
(D) There have been incidents
where students who left the
exam hall early stole the
mobile phones kept in the
bags of the students who
were writing the exam
The school authorities
must ask the students to
leave their phones in the
custody of the invigilator
before the exam in order to
avoid thefts of mobile
phones

None of the other students

were cartying their phones

in the exam hall.

43. Which of the following among
(A), (B), (C) and (D) may be a
strong argument in favour of
the three students who were
caught with the mobile
phone ?

{1) Only (A)

{2) Both (A) and (B)

(3) Both (C) and (D)

{4) Only (C)

(5) Both (B} and (D}

(B)

(€

(E)

(F)



44. Which of the following among
(A), (B), (E) and (F) may be the
reason behind the school mak-
ing such announcements be-
fore the exam ?

(1) Only (B)

(2) Both (B) and (E)
(3)Only (F) (4)Only (A)
{5) Both (E) and (F)

45. Which of the following among

(a), (B), (D) and (F) can be an
immediate course of action
for the invigilator ?

(1) Only (B)
(2) Both (A) and (D)

(3) Only (A)
(4) Both (D) and (F)

(5) Only (F)

Directions (46-50) : In each of the questions given below which one of the
five answer figures on the right should come after the problem figures on the

left, if the sequence were continued ?

Problem Figures

Answer Figures
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DATA ANALYSIS & INTERPRETATION

Directions (51-55) : Study the following graph carefully to answer the

questions that follow :

Cost of three different fruits (in rupees per kg.) in five different cities.
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81. In which city is the difference
between the cost of one kg. of
apple and cost of one kg. of
guava second lowest ?

(1) Jalandhar

{2) Delhi

(3) Chandigarh

(4) Hoshiarpur

(5) Ropar

Cost of one kg. of guava in
Jalandhar is approximately
what percent of the cost of two
kgs. of grapes in Chandigarh ?

52.

(1) 66 - (2)24
(3)28 (4) 34
(5)58

. What total amount will Ram
pay to the shopkeeper for pur-
chasing 3 kgs. of apples and 2
kgs. of guavas in Delhi ?

(1) ¥ 530 (2) ¥ 450
(31T 570 (4) ¥ 620
(5) ¥ 490

. Ravinder had to purchase 45
kgs. of grapes from Hoshiar-
pur. Shopkeeper gave him dis-
count of 4% per kg. What
amount did he pay to the shop-
keeper after the discount ?

(1) ¥ 8,208 (2) ¥ 8,104
3/¥8340 (4} ¥ 8,550
(5) ¥ 8,410

. What is the respective ratio
between the cost of one kg. of
apples from Ropar and the cost
of one kg. of grapes from Chan-

digarh ?

1)3:2 202:3
(3)22: 3 (4) 42 . 92
5) 9% : 47



Directions (56-60) : Study the
radar graph carefully and answer the
questions that follow :

Number of students (in thousands)
in two different universities
in six different years
Number of Students

2010

—&— University-1
—&— University-2

. What was the difference be-
tween the number of students
in university-1 in the year 2010
and the number of students in
university-2 in the year 2012 ?

(1) Zero (2) 5,000
(3) 15,000 (4) 10,000
(5) 1,000
7. What is the sum of the num-

ber of students in university-1
in the year 2007 and the num-
ber of students in university-2
in the year 2011 together ?

(1) 50000 (2) 55000
(3) 45000 (4) 57000
(5) 40000
58. If 25% of the students in uni-

versity-2 in the year 2010 were
fermales, what was the number
of male students in the uni-
versity-2 in the same year ?

(1) 11250 (2) 12350
(3) 12500 (4) 11500
(5) 11750
89. What was the percent increase

in the number of students in
university-1 in the year 2011 as
compared to the previous year ?

(1135 )15
(3)115 (4)25
(5)35

60. In which year was the differ-
ence between the number of
students in university-1 and
the number of students in1 uni-
versity-2 highest ?

(1) 2008 (2) 2009

(3) 2010 (4) 2011

(5) 2012

Directions (61-65) : Study the

graph carefully to answer the ques-
tions that follow.
Number of players participating
in three different games in five
different schools

@®
<

=]

(@]

(=]

Number of Players
- WD gD N
=] =)

=)

ALLATLALALERLIUR R LV LR R RA LR R
HUER U LU LU HY H AU i

z
4
4
Z
z
Z
-
4
z
z
~
”
2z
z
z
Z

=
=
=
=
=

Bz
z
z
z
z
z
Z
z
z
z
z
z
Z

i

ANV RSN
\

(=)

T8 % 1 %

T % B B K}

& 6 © ° o

g2 02 2 2

a & & & @
Schools

EHockey [Basketball
Kho-Kho

61. What is the total number of
players participating in hock-
ey from all the five schools to-

gether ?

(1) 324 (2) 288
(3) 342 (4) 284
(5) 248

62. What is the respective ratio
between number of players
participating in basketball
from school-1 and the number
of players participating in
Kho-Kho from school-3 ?

(1)5:7 (2)7:9
3)7:8 4)9:7
{5)5:8

. In which school is the number
of players participating in
hockey and basketball togeth-
er second highest ?

(1) School-1
(2) School-2
(3) School-3
(4) School-4
{5) School-5

64. Number of players participa:-
ing in Kho-Kho from school-<
is what percent of number o
players participating in hock-
ey from school-2 ?

(1)42 (2) 48
(3) 36 (4) 40
(5) 60

65. 25% of the number of the play-
ers participating in hocker
from School-5 are females
What is the number of the
hockey players who are males

in school-5 ?

(1)15 (2) 18

(3) 30 “4)21

(5) 27

Directions (66-70) : Study the

following bar-graph carefully anc
answer the following questions.
Earning (in rupees) of three
different persons on
four different days
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66. What is Gita’s average earn-
ings over all the days togeth-
er?

(1) 285

(2)¥ 290

(3)¥ 320

(4)¥ 310

5) ¥ 315

What is the total amount
earned by Rahul and Naveen
together on Tuesday and
Thursday together ?

(1)¥ 1040

(2)% 1020

(3} ¥ 980

(4} 940

(5) ¥ 860

Mon.

67.



Directions {71-78) : Study the

72. In management profession
following pie-chart and answer the fol-

68. Gita donated her earnings of
three-fourth of the number of

Wednesday to Naveen. What

70. What is the respective ratio
between Naveen'’s earnings on
Monday, Wednesday and
Thursday ?

71. What is the difference between

the total number of employees
in teaching and medical pro-

, lowing questions. employees are females. What
;’lifixlf::gz; Z;t(::l(;ﬂr;g:n(? Percentagewise distribution of is the number of male employ-
employees in six different profes- ees in management profession?
tion ? oS eac2 (1) 1239 (2) 1143
(1)2520 Total number of exaployees = 26800 (3) 1156 (4) 1289
2) ¥ 550 (5) 1139 .
:3) Y 540 é‘ 73. 25% of employees from film
A § production profession went on
(4) ¥ 560 Management] &§ a strike. What is the number
(5) ¥ 620 . 17% 2 of employees from film pro-
69. What is the difference between & Te‘i‘g;bmg d“ftg’:‘ "gl‘o h&" kc ‘}?ot partici-
Rahul's earnings on Monday | [ Industries FS 3627? s ) 3819
s 0,
gzs?Gitas earnings on Tues- 13% Film }g; 3% (4) 1273
1
(1)Z 40 (2) T 20 Procli;qcbtion 74. What is the total number of
(3)2 50 @z 30 Medical employees in engineering pro-
27% fession and industries togeth-
(5) 10 er?

(1) 5698 (2) 5884
(3) 5687 {4) 5896
(5) 5487

75. In teaching profession if three-

fifth of the teachers are not

{(1)7:3:5 fession together and the num- permanent, what is the num-
2)8:6:5 ber of employees in manage- ber of permanent teachers in
. ment profession ? the teaching profession ?
(3)8:7:4 (1) 6770 (2) 7700 (1) 1608 (2) 1640
4)9:5:4 (3) 6700 (4) 7770 (3) 1764 (4) 1704

(5)9:3:4 (5) 7670 (5) 1686

Directions (76-80) : Study the table carefully to answer the questions that follow.
Monthly Biil (in rupees) of paid by three landline phone,
electricity, laundry and mobile phone paid by three different people in five different months

Monthly Bills
Month Landline Phone Electricity Laundry Mobile Phones
Ravi { Dev | Manu Ravi | Dev] Manu Ravi | Dev |Manu | Ravi | Dev | Manu
March| 234 | 190 113 145 245 315 93 | 323 65 144 | 234 345
April 124 | 234 321 270 220 135 151 134 35 164 221 325
May 156 | 432 211 86 150 98 232 442 132 143 532 332
June | 87 {123 | 124 124 | 150| 116 213 (324 | 184 | 245 | 134 | 125
July | 221 {104 | 156 235 | 103] 131 143 | 532 | 143 | 324 | 432 | 543
76. What is the total amount of | 78. What is the difference between {1) April and June

bill paid by Dev in the month
of June for all the four com-

the mobile phone bill paid by
Ravi in the month of May and

(2) April and May
(3) March and June

modities ? laundry bill paid by Dev in the {4) March and May
(1) 608 @ 763 month of March ? (5) July and May
g} ; ;3‘1 4) 683 (1)¥ 180 (2T 176 80. What is the respective ratio be-
. 3)T 190 (4) T 167 tween the elctricity bill paid by
77. What is the average electricity 5) 7 196 Manu in the month of April

bill paid by Manu over all the

five months together ?
(1) 183 (2)T 149
3)T 159 4)zT178
5T 164

79. In which months respectively
did Manu pay the second high-
est mobile phone bill and the

lowest electricity bill ?

and the mobile phone bill paid

by Ravi in the month of June ?
(1)27:49 {2) 27 : 65
{3)34:49 (4) 135: 184

(5)13:24



Directions (81-85) : Study the following table carefully and answer
the questions that follows : ‘
Chart showing schedule of train from Dadar to Bhuj and number of
passengers boarding from cach station

Station Arrival | Departure | Halt time Distance No. of
name time time (in travelied passengers
minutes) for origin | boarding the
{in km) train at each
station
Dadar Starting | 12.05a.m. — Okm. 437
point
VasalRoad {12.53a.m. | 12.56a.m. 3 minutes 42 km. 378
Surat 4.15a.m. 4.20a.m 5 minutes 257 km. 458
Vadodara 6.05a.m. 6.10a.m. 5 minutes 386 km. 2338
AnandJn. | 643am. | 645am. 2 minutes 422 km. 290
NadiadJn. | 7.0lam | 7.03am. 2 minutes 440 km. 132
Ahmedabad | 8.00a.m. 8.20a.m. 20 minutes 486 km. 306
Bhuj 5.40p.m | End. point - 977 km. None
81. What is the distance travelled
by the train from Surat to Na- 321:19 415:13
diad Jn. ? (5)138:15
(1)176 km. (2) 188 km. 84. In halt time (stopping time) of
(3) 183 km. (4) 193 km. the train at Vadodara is de-
(5) 159 km. creased by 2 minutes and in-

82.

83.

How much time does the train
take to reach Ahmedabad af-
ter departing from Anand Jn.
(including the halt time) ?

(1) 1 hr. 59 min.

(2) 1 hr. 17 min.

(3} 1 hr. 47 min.

{(4) 1 hr. 45 min.

{(5) 1 hr. 15 min.

What is the respective ratio
between the number of passen-
gers boarding from Vasai Road
and fromm Ahmedabad in the
train ?

.

creased by 23 minutes at
Ahmedabad. At what time will
the train reach Bhuj ?

{1)6.10 a.m.
(2) 6.01 a.m.
(3) 6.05 a.m.
(4) 6.50 a.m.
(5) 6.07 a.m.

Distance between which two
stations is second lowest ?

(1) Nadiad Jn. to Ahmedabad
(2) Anand Jn. to Nadiad Jn.
(3} Dadar to Vasai Road

(4) Anand Jn. to Vadodara

(1)21:17 2)13:9 (5) Vasai Road to Surat
Directions (86-90) : Study the table carefully to answer the ques-
tions that follow.

Maximum and minimum temperature {in degree Celsius)
recorded on 1st day of each month of five different cities
Temperature

Month Bhuj Sydney Ontario Kabul Beijing
Max.| Mini.| Max. | Mini. | Max.| Mini.| Max.| Mini.| Max. | Mini.
1st Sep.| 24 14 12 2 5 1 34 231 12 9
1st Oct. 35 21 5 ~1 15 6 37 30 9 3
1st Nov.| 19 8 11 3 4 0 45 36| 15 1
1st Dec. 9 2 -5 -9 {-11 -7 31 23 2 -3
1st Jan.| -4 ~71-11 ) -13 |-14 | -19 20 11 51 -13

86.

87.

88.

89.

What is the difference between
the maximum temperature of
Ontario on 1st November and
the minimum temperature of
Bhuj on 1st January ?

{1)3°C (2) 18°C
{3) 15°C (4)9°C
{5) 11°C

In which month respectively
the maximum temperature of
Kabul is second highest and
minimum temperature of Syd-
ney is highest ?

(1) 1st October and 1st Janu-

ary

{2) 1st October and 1st Novem-
ber ,

{3) 1st December and lst
January

(4) 1st September and 1st
January

(5) 1 st December and 1st Sep-

tember
In which month (on 1st day)
is the difference between max-
imum temperature and mini-
mum temperature of Bhuj sec-
ond highest ?
(1) 1stSeptember
(2) 1st October
(3) 1st November
(4) 1st December
(5) 1st January
What is the average maximum
temperature of Beijing over all
the months together ?

(1) 8.4°C (2) 9.6°C
(3) 7.6°C (4) 9.2°C
(5) 8.6°C

80. What is the respective ratio

between the minimum temper-
ature of Beijing on 1st Septem-
ber and the maximum temper-
ature of Ontario on 1st Octo-
ber ?

(3:4 2)3:5
34:5 41:5
(6)1:4



Directions (91-985) : Study pie-
chart and table carefully to answer
the questions that follow:

Pie-chart showing Percentage
wise distribution of cars in four
different states
Total cars = 700

Distribution of Cars

Table showing ratio between

diesel and petrol engine cars

which are distributed among
four different states

State Diesel Petrol
Engine | Engine
Cars Cars
State-1 3 4
State-2 5 9
State-3 5 3
State-4 1 1

91. What is the difference between
the number of diesel engine
cars in state-2 and the num-
ber of petrol engine cars in

state-4 ?

(1) 159 (2) 21
(3) 28 (4) 34
(5) 161

. Number of petrol engine cars
in state-3 is what percent more
than the number of diesel en-
gine cars in state-1 ?

(1) 100 (2) 200
(3) 300 (4) 125
(5) 225

. If 25% of diesel engine cars in
state-3 are AC and remaining
cars are non-AC, what is the
number of diesel engine cars
in state-3 which are non-AC ?

(175 (2)45
(3) 95 (4) 105
(5) 35
84. What is the difference between
the total number of cars in
state-3 and the number of
petrol engine cars in state-2 ?
(1) 98 (2) 106
(3)112 4) 102
(5) 98
95. What is the average number of
petrol engine cars in all the
states together ?
(1) 86.75 (2) 89.25
(3) 89.75 (4)86.25
(5) 88.75
96. Abag contains 7 blue balls and
5 yellow balls. If two balls are
selected at random, what is the
probability that none is yel-
low ?
5 5
(1) 33 @) 535
7 e
®) 22 ) 33
e
) 5a
97. A die is thrown twice. What is
the probability of getting a sum
7 from both the throws ?
5 1
() 15 @ 15
1 1
B3 @5
3
(5) 36

Directions (98-100) : Study
the information carefully to answer
these questions.

In a team there are 240 mem-
bers (males and females). Two-third
of them are males. Fifteen percent
of males are graduates. Remaining
males are non-graduates. Three-
fourth of the females are graduates.
Remaining females are non-gradu-
ates.

98. What is the difference between
the number of females who are
non-graduates and the num-
ber of males who are gradu-
ates ?

(1)2 (2)24
3)4 (4) 116
(5) 36

. What is the sum of the num-
ber of females who are gradu-
ates and the number of males
who are non-graduates ?

(1) 184 (2) 96
(3) 156 4) 84
(5) 196

100. What is the ratio between the
total number of males and the
number of females who are
non-graduates ?

(1Ne6:1 (2)8:1
(3)8:3 4)5:2
B5)7:2

GENERAL AWARENESS,

MARKETING & COMPUTER

101. Who is the Captain of Australian
Cricket Team, which currently
(March 2013) visited India?

(1) Michael Clarke
{2) Shane Watson
(3) Shane Warne

(4) Michael Hussey
(5) Ricky Ponting

102. Government as part of the
recapitalisation plan, infused
capital in State Bank of India
recently. Indicate the approxi-
mate capital infusion.

(1) Rs. 500 cr.

(2) Rs. 1,000 cr.
(3) Rs. 1,500 cr.
(4) Rs. 2,000 cr.
(5) Rs. 3,000 cr.

103. The NRIs while investing in the
equity of a company cannot
buy more than prescribed per-
centage of the paid up capital
of that company. What is the
prescribed percentage ?

(1) 2% (2) 3%
(3) 4% (4) 5%
(5) 6%

104.Every year March 20 is cel-

ebrated as what day ?

(1) World Sparrow Day

(2) International Women's Day
(3) World Cuckoo Day

(4) International Child Day
(5) International Mother’s Day




105.0ne of the famous Indian
Sportsperson released his/her
autobiography ‘Playing to Win’
in November 2012. Name the
sportsperson correctly.
{1) Saina Nehwal
{2) Mary Kom
(3) Yuvraj Singh
(4) Sachin Tendulkar
{5) Sushil Kumar

106. Which of the following term is
associated with the game of

Cricket ?

(1) Bouncer (2)Love

(3) Goal (4) Mid Court
(5) Collision

107.Who is the author of the book
‘Women of Vision’ ?
(1) Ravinder Singh
(2) Preeti Shenoy
{3) Amish Tripathi
{4) Durjoy Dutta
(5) Alam Srinivas

108. Prof. Muhammad Yunus, the
recipient of the Nobel Peace
Prize 2006 is the exponent of
which of the following con-
cepts in the field of banking ?
(1) Core Banking
(2) Micro Credit
(3) Retail Banking
{4) Real Time Gross Settle-

ment

(5) Internet Banking

109. Invisible Export means export
of
(1) Services
(2) Prohibited goods
(3) Restricted goods
(4) Goods as per OGL list
(5) Other than those given as

options

110.The European Union has
adopted which of the follow-
ing as a common currency ?

(1) Dollar (2) Dinar
(3) Yen (4) Euro
(5) Peso

111, Banks in India are required to
maintain a portion of their de-
mand and time liabilities with
the Reserve Bank of India. This

portion is called

(1) Statutory Liquidity Ratio
(2) Cash Reserve Ratio
(3) Bank Deposit
{4) Reverse Repo
(5) Government Securities
112. Pre-shipment finance is pro-
vided by the banks only to —
(1) Credit Card Holders
(2) Students aspiring for fur-
ther studies
(3) Brokers in equity market
(4) village Artisans
(5) Exporters
113. Banking Ombudsman is ap-
pointed by
(1) Government of India
(2) State Governments
(3) RBI (4) ECGC
{5) Exim Bank
114.The Holidays for the Banks are
declared as per
(1) Reserve Bank Act
(2) Banking Regulation Act
(3) Negotiable Instruments Act
(4) Securities and Exchange
Board of India Act
(5) Companies Act
115.Interest on Savings deposit
nowadaysis ___
(1) Fixed by RBI
{2) Fixed by the respective
Banks
(3) Fixed by the Depositors
{(4) Fixed as per the contract
between Bank and the Con-
sumer Court
(5) Not paid by the Bank
1186. Interest below which a bank is
not expected to lend to cus-
tomers is known as
(1) Deposit Rate
(2) Base Rate
(3) Prime Lending Rate
(4) Bank Rate
(5) Discount Rate
117. The customers by opening and
investing in the Tax Saver De-
posit Account Scheme in a
Bank would get benefit under

(1} Sales Tax

(2) Customs Duty
(3) Excise Duty

(4) Professional Tax
(5) Income Tax

118. In banking business, when tr=
borrowers avail a Term Loar
initially they are given arepay-
ment holiday and this is re-
ferred as
(1) Subsidy
(2) Interest Waiver
(3) Re-phasing
(4) Interest concession
(5) Moratorium

119. One of IT company from Indiz
has become the first Indiar
Company to trade on NYSE
Euronext London and Paris
markets from February 2013
onwards. Which is this com-
pany ?

(1) Wipro Infotech Ltd.

(2) L&T Infotech

(3) HCL Technologies LTD.

(4) Infosys Technologies Lim-
ited

(5) Polaris Financial Technol-
ogy Ltd.

120.BSE (Bombay Stock Ex-
change), the oldest stock ex-
change in Asia has joined
hands with one more interna-
tional index in February 2013.
This association has resulted
in change of name of BSE in-
dex. What is the change of
name effected ?

(1) Dow Jones BSE Index

{2) NASDAQ BSE Index

(3) S&P BSE Index

(4) Euronext BSE Index

(5) Other than those given as
options

121. A non -performing asset is __
(1) Money at call and short

notice
(2) An asset that ceases to gen-
. erate income
{3) Cash balance in till
(4) Cash balance with RBI
(5) Balance with other banks

122. RBI has released its guidelines
for entry of new banks in the
private sector in the month of
February 2013. One of the
norms is at least a prescribed
percentage of branches of new
bank should be set in-
unbanked rural centres with a



population of upto 9,999
people. What is the percentage
of such branches prescribed in
the norms ?

(1) 10% (2) 15%

(3) 18% (4) 25%

(5) Other than those given as
options

123. The Union Budget for 2013-14
proposed by the Finance Min-
ister on 28th February 2013
announced introduction of
new variety of bonds by the
Government. What is the name
of these bonds ?

(1) Deep discount bonds

(2) Zero Coupon bonds

(3) Bullet Bonds

(4) Inflation Indexed Bonds

(5) Inflation Variable Bonds

124. Government usually classifies
its expenditure in term of
planned and non-planned ex-
penditure. Identify, which is
the correct definition of
Planned expenditure ?

(1) It represents the expendi-
ture of all the State Gov-
ernments

(2) It represents the total ex-
penditure of the Central
Government

(3) It is the expenditure which
is spent through centrally
sponsored programmes and
flagship schemes of Govern-
ment

(4) It represents the expendi-
ture incurred on Defence

(5) Other than those given as
options

125. Which of the following orga-
nization is made specifically
responsible for empowering
Micro, Small and Medium en-
terprises in India ?

(1) NABARD (2) RBI

(3) SIDBI (4 ECGC

(5) SEBI

126.'C in CPU denotes
(1) Central
(2) Common
(3) Convenient
(4) Computer
(5) Circuitry

127. A joystick is primarily used to/
for
(1) Control sound on the
screen
(2) Computer gaming
(3) Enter text
(4) Draw pictures
(5) Print text
128. Which is not a storage device ?
(LJACD (2)ADVD
(3) A floppy disk
(4) A printer
(5) A Hard disk
129. Which of the following uses a
handheld operating system ?
(1) A supercomputer
(2) A personal computer
(3) A laptop
(4) A mainframe
(5) APDA
130.To display the contents of a

folder in Windows Explorer
you should

(1) click on it
(2) collapse it
(3) name it
(4) give if a password
(5) rename it
131. The CPU comprises of Control,
Memory, and Units.
(1) Microprocessor
(2) Arithmetic/Logic
(3) Output  (4) ROM
(5) Input

132. is the most impor-

tant/powerful computer in a
typical network.
(1) Desktop
(2) Network client
(3) Network server
(4) Network station
{5) Network switch

133.A(n) appearing on a
web page opens another docu-
ment when clicked.
(1) anchor (2) URL
(3) hyperlink
(4) reference
(5) heading

134. Which of the following refers
to the rectangular area for dis-
playing information and run-
ning programs ?

(2) Dialog box
(4) Window

(1) Desktop
(3) Menu
(5) Icon
135. is a Windows utility
program that locates and
eliminates unnecessary frag-
ments and rearranges files and
unused disk space to optimize
operations.
(1) Backup
(2) Disk Cleanup
(3) Disk Defragmenter
(4) Restore
(5) Disk Restorer
136. Which of the following refers
to too much electricity and
may cause a voltage surge ?

(1) Anomaly (2) Shock
(3) Spike (4) Virus
(5) Splash

137.The software that is used to
create text-based documents
are referred to as
(1) DBMS (2) suites
(3) spreadsheets
(4) presentation software
(5) word processors
devices convert hu-
man-understandable data and
programs into a form that the
computer can process.
(1) Printing  (2) Output
(3) Solid state (4) Monitor
(5) Input
139. Effective Selling Skills depends
on———————— -
(1) Number of languages
known to the DSA
(2) Data on marketing staff
(3) Information regarding IT
market
(4) Knowledge of related mar-
kets
(5) Ability to taik fast
140. A Direct Selling Agent (DSA)
is required to be adept in —
(1) Surrogate marketing
(2) Training skills
(3) Communication skills
{4) Market Research
(5) OTC Marketing
141. Leads can be best sourced from
(1) Foreign customers
(2) Yellow pages

138.



(3) Dictionary
(4) List of vendors
(5) Local supply chains
142. A successful marketing person
requires one of the following
qualities
(1) Empathy (2) Sympathy
(3) Insistence
(4) Aggressiveness
(5) Pride
143.Innovation in marketing is
same as
(1) Abbreviation
(2) Communication
(3) Creativity
(4) Aspiration
(5) Research work
144. Market segmentation can be
resorted to by dividing the tar-
get group as per
(1) Income levels of customers
(2) Age of the employees
(3) Needs of the sales persons
{4) Marketing skills of the em-
ployees
(5) Size of the Organisation
145. Post-sales activities include _
(1) Sales presentation
(2) Customer Feedback
(3) Customer identification
(4) Customer apathy
(5) Product design
146. The USP of a product denotes
(1) Usefulness of the product
(2) Drawbacks of a product
(3) Main functions
(4) Number of allied products
available
(5) High selling features of a
product
147.The competitive position of a
company can be improved by—
(1) increasing the selling price
(2) reducing the margin
{3} ignoring competitors
(4) increasing the cost price
(56) understanding and fulfill-
ing customers’ needs
148. Value added servicesmeans __
(1) Low cost products
(2) High cost products
(3) At par services

(4) Additional services for the
same cost
(5) Giving discounts
1498.The target market for Debit
Cards is— -
(1) All existing account-hold-
ers
(2} All agriculturists
{3) All DSAs
(4) All vendors
(5) All outsourced agents.
150. A good Brand can be built up
by way of ____
(1) Customer grievances
(2) Break-down of IT support
(3) Old age
(4) Large number of products
(5) Consistent offering of good
services

ENGLISH LANGUAGE

Directions (151-160) : Read
the following passage carefully and
answer the questions given below it.
Certain words have been printed in
bold to help you locate them while
answering some of the questions.

Financial Inclusion {F}) is an
emerging priority for banks that
have nowhere else to go to achieve
business growth. The viability of F1
business is under question, because
while banks and their delivery part-
ners continue to make investments,
they haven't seen commensurate
returns. In markets like India, most
programs are focused on customer
on-boarding, an expensive process
which people often find difficult to
afford, involving issuance of smart
cards to the customers. However,
large scale customer acquisition
hasn't translated into large scale
business, with many accounts ly-
ing dormant and therefore ylelding
no return on the bank’s investment.
For the same reason, Business Cor-
respondent Agents who constitute
the primary channel for financial
inclusion are unable to pursue their
activity as a fuli-time job. One ma-
jor reason for this state of events is
that the customer on-boarding pro-
cess is often delayed after the sub-
mission of documents (required to
validate the details of the concerned

applicant) by the applicant anc
might take as long as two weeks
By this time the initial enthusiasrc
of applicants fades away. Moreover
the delivery partners don't have the
knowledge and skill to propose any-
thing other than the most basic fi-
nancial products to the customer
and hence do not serve their banks
goal of expanding the offering ir
unbanked markets.

Contrary to popular perception
the inclusion segment is not a sin-
gular impoverished, undifferentiat-
ed mass and it is important to nav-
igate its diversity to identify the
right target customers for various
programs. Rural markets do have
their share of rich people who dc
not use banking services simply be-
cause they are inconvenient to ac-
cess or have low perceived value. At
the same time, urban markets, de-
spite a high branch density, have
multitude of low wage earners out-
side the financial net. Moreover, the
branch timings of banks rarely co-
incide with the off-work hours of the
labour class.

Creating affordability is crucial
in tapping the unbanked market. No
doubt pricing is a tool, but banks
also need to be innovative in right-
sizing their proposition to convince
customers that they can derive big
value even from small amounts. One
way of doing this is to show the tar-
get audience that a bank account
is actually a lifestyle enabler, a con-
venient and safe means to send
money to family or make a variety
of purchases. Once banks succeed
in hooking customers with this val-
ue proposition they must sustain
their interest by introducing a sim-
ple and, intuitive user application,
ubiquitous access over mobile and
other touch points, and adopting a
banking mechanism which is not
only secure but also reassuring to
the customer. Technology is the
most important element of finan-
cial inclusion strategy and an en-
abler of all others. The choice of
technology is therefore a crucial
decision, which could make or mar
the agenda. Of the various selection
criteria, cost is perhaps the most
important. This certainly does not



mean buying the cheapest package,
but rather choosing that solution
which by scaling transactions to
huge volumes reduces per unit op-
erating cost. An optimal mix of these
strategies would no doubt offer an
innovative means of expansion in
the unbanked market.

151. Which of the following facts is
true as per the passage ? '
(1) People from rural areas

have high perceived value of
banking services

{2) Cost is not a valid criteri-
on for technological pack-
age selection for financial
Inclusion initiatives

(3) The inclusion segment is a
singular impoverished, un-
differentiated mass

{4) The branch timings of
banks generally do not co-
incide with the off-work
hours of the labour class in
urban markets

(5) All the given statements are
true

152. According to the passage, for
which of the following reasons
do the delivery partners fail to
serve their bank’s goal to ex-
pand in the unbanked mar-
kets ?

A} They donot have adequate cli-
ent base to sell their financial
products

.B) They do not have adequate
knowledge and skills to explain
anything beyond basic finan-
cial products to the custom-
ers

C) They do not have the skills to
operate advanced technologi-
cal aids that are a prerequisite
to tap the unbanked market
(1) Only (B)

{2) Only (C)

(3)All (A), B) & (C)

(4) Only (&)

{5) Both (B} & (C)

153. According to the passage, for
which of the following reasons
is the viability of financial in-
clusion under question ?

(1) The banks always prefer the
chgapest package (to cut
cost) while making a choice
of technology to be used

(2) The Business Correspon-
dent Agents are highly de-
motivated to pursue their
activity as a full-time job

(3) The investments made by
banks and its delivery part-
ners are not yielding equal
amount of returns

(4) The banks do not have ad-
equate number of delivery
partners required to tap the
unbanked market

(5) The banks do not have ad-
equate manpower to explore
the diversity of the un-
banked market and there-
by identify the right target
customers for various pro-
grams

154. In the passage, the author has
specified which of the follow-
ing characteristics of the cus-
tomer on-boarding process ?

(1) It involves collection of doc-
uments from the applicants
in order to validate their
details

(2) It involves issuarice of smart
cards to the customers

(3) It suffers from latency as it
takes a long time after sub-
mission of documents by
the customer

(4) It is an expensive process
which people find difficult
to afford

(5) All of the given character-
istics have been specified

155. What did the author try to
highlight in the passage ?

(A) The ailing condition of finan-
cial inclusion business at
present

(B) Strategies that may help bank

to expand in the unbanked

market

Role of government in modify-

ing the existing financial in-
clusion policies

(1) Both (A) & (B)

(2)All (A}, (B) & (C)

(3) Only (C)

(4) Only (A) (5) Only (B)

156.According to the passage,
which of the following ways
may help banks to sustain the
interest of their customers af-
ter hooking them ?

(€

(A) Adoption of a banking mecha-
nism which is not only secure
but reassuring to the custom-
ers

(B) Increasing the number of de-
livery partners in rural market

(C) Introduction of a simple and
intuitive user application
{1) Only (A) (2)Only (C)

(3) Only (B}

{(4) All (A}, (B) & (C)

(5) Both (A) & (C)

Directions (157-158)
Choose the word which is MOST
SIMILAR in meaning to the word
printed in bold as used in the pas-

sage.
157. Multitude

(1) Impoverished

(2) Handful

(3) Acknowledged

(4) Plenty (5) Solitude
158. Ubiquitous

(1) Quintessential

(2) Popular

(3) Omnipresent

(4) Simplified (5) Abnormal

Directions (159-160)
Choose the word which is MOST
OPPOSITE in meaning to the word
printed in bold as used in the pas-
sage.
159. Dormant

(1) Emaciated (2) Pertinent

(3) Cornered (4) Rejected

(5) Active
160. Delayed

(1) Perturbed (2} Popularised

(3) Expedited (4) Stabilised

(5) Repressed

Directions (161-170) : Read
the following passage carefully and
answer the questions given below it.
Certain words have been printed in
bold to help you lccate them while
answering some of the questions.

The evolution cf Bring Your
Own Device (BYOD) trend has been
as profound as it has been rapid. It
represents the more visible sign that
the boundaries between personal life
and work life are blurring. The S9am
- 5 pm model of working solely from
office has become archaic and in-
creasingly people are working ex-



tended hours from a range of loca-
tions. At the very heart of this evo-
lution is the ability to access en-
terprise networks from anywhere
and anytime. The concept of cloud
computing serves effectively to ex-
tend the office out of office. The
much heralded benefit of BYOD is
greater productivity. However, re-
cent research has suggested that
this is the greatest myth of BYOD
and the reality is that BYOD in prac-
tice poses new challenges that may
outweigh the benefits, A worldwide
survey commissioned by Fortinet
chose to look at attitudes towards
BYOD and security from the users’
point of view instead of the IT man-
agers. Specifically the survey was
conducted in 15 territories on a
group of graduate employees in their
early twenties because they repre-
sent the first generation to enter the
workplace with an expectation of
own device use. Moreover, they also
represent tomorrow's influencers
and decision makers. The survey
findings reveal that for financial
organizations, the decision to em-
brace BYOD is extremely danger-
ous, larger organizations will have
mature IT strategies and policies in
place. But what about smaller fi-
nancial businesses ? They might not
have such well developed strategies
to protect confidential data.
Crucially, within younger em-
ployee group, 55% of the people
share an expectation that they
should be allowed to use their own
devices in the workplace or for work
purposes. With this expectation
comes the very real risk that em-
ployees may consider contravening
company policy banning the use of
own devices. The threats posed by
this level of subversion cannot be
overstated. The survey casts doubt
on the idea of BYOD leading to
greater productivity by revealing the
real reason people want to use their
own devices. Only 26% of people in
this age group cite efficiency as the
reason they want to use their own
devices, while 63% admit that the
main reason is so they have access
to their favourite applications. But
with personal applications so close

to hand, the risks to the business
must surely include distraction and
time wasting. To support this as-
sumption 46% of people polled ac-
knowledged time wasting as the
greatest threat to the organization,
while 42% citing greater exposure
to theft or loss of confidential data.
Clearly, from a user perspective there
is great deal of contradiction sur-
rounding BYOD and there exists an
undercurrent of selfishness where
users expect to use their own devic-
es, but mostly for personal inter-
est. They recognize the risks to the
organization but are adamant that
those risks are worth taking.
161. According to the passage, for
which of the following reasons

did Fortinet conduct the sur-

vey on a group of graduate

employees in their early twen-
ties ?

(A) As this group represents the
future decision makers

(B) As this group represents the
first generation who entered
the workforce with a better
understanding of sophisticat-
ed gadgets

{C) As this group represents the
first generation to enter the
workplace expecting that they
can use their own devices for
work purpose

(1}All (A), (B) & (C)

(2) Only (C)

{3) Both (A) & (C)

{(4) Only (A)

(5) Only (B)

162. Which of the following is not
true about BYOD ?

(1) BYOD enables employees
to access enterprise net-
work from anywhere and
anytime

(2) Due to evolution of BYOD
trend the 9 am - 5 pm mod-
el of working solely from
office has become outdated

(3} Recent research has con-
firmed that BYOD boosts
organisational productivity

(4) The concept of cloud com-
puting facilitates the BYOD
trend

(5) All the given facts are true

163. According to the passage, why

would the decision to embrace

"BYOD prove dangerous to

smaller financial businesses ?

(1) Their employees have poor
knowledge about their de-
vices which in turn pose a
threat to the confidential
data of the organisation

(2) Their employees are more
vulnerable to misplacement
of devices

(3) They may lack mature IT
strategies and policies re-
quired to protect confiden-
tal data

(4) They cannot afford to deal
with damage liability issues
of employee-owned devices

(5) Their employees have a ten-
dency to change jobs fre-
quently

164. According to the passage, the
expectation of younger em-
ployees that they should be
allowed to use their own de-
vices in the workplace, entails
which of the following risks ?

(A) Younger employees may delib-
erately transfer confidential
data of their companies to ri-
vals if they are not allowed to
use their own devices for work
purpose

(B) Younger employees may
strongly feel like leaving the
company if it prevents usage
of own device and join some
other company that does not

. have such stringent policies

(C) Younger employees may con-
sider flouting company policy
prohibiting usage of their own
devices in the workplace or for
work purposes
(1) Only (C)

(2) Qnly (B)

(3) Both (A) & (C)
(4) Only (A)

(51 All (A), (B) & (C)

1886. According to the findings of the
survey conducted by Fortinet,
why do majority of employees
prefer using their own devices
for work purpose ?



(1) As they often find that the
devices provided by the com-
pany lack quality

(2) As they have access to their
favourite applications while
working

(3) As majority of them believe
that output doubles when
they use their own devices
for work purpose

(4) As handling data from their
own devices reinforces their
sense of responsibility

{5) As it helps them create a
brand of their own

166. What is/are the author’s main
objective(s) in writing the pas-
sage ?

(A) To break the myth that BYOD
promotes employee efficiency
and organisational productiv-
ity

{B) To suggest ways to control sub-
version across levels of corpo-
rate chain of command

(C} To throw light upon the fact
that employees even after
knowing the risks involved,
prefer to use their own devices
for work purpose mostly for
personal benefits
(1) Both (A) & (C)

(2)All (), (B) & (C)

{3) Only (C)

(4) Only (4)

(5) Only (B)

Directions (167-168) :
choose the word which is MOST
SIMILAR in meaning to the word
srinted in bold as used in the pas-

sage.

167.Heralded
(1} Suspected (2} Publicised
(3)Dragged  (4) Objective
(5) Benefit

168, Outweigh
(1) Control  (2) Venture
(3) Perish {4) Determine
(5) Surpass

Directions (169-170) :
Zhoose the word which is MOST
OPPOSITE in meaning to the word
crinted in bold as used in the pas-

169. Embrace
(1) Contradict (2) Disobey
(8) Curtail  (4) Reject
(5) Obscure

170. Subversion
(1) Compliance
(2) Sanity
{3) Popularity
(4) Destabilisation
(5} Clarity
Directions (171-175) : Read

each sentence to find out whether
there is any grammatical error or
idiomatic error in it. The error, if
any, will be in one part of the sen-
tence. The number of that part is
the answer. If there is no error, the
answer is (5). (Ignore errors of punc-
tuation, if any.)

171.There cannot be any situation
where (1)/ somebody makes
money in an asset (2)/ located
in India and does not pay tax
(3)/ either to India or to the
country of his origin.(4)/ No
error (5)

172.India has entered a downward
spiral (1)/ where the organised,
productive (2)/ and law abide
sectors are subject to (3)/ sav-
age amounts of multiple tax-
es. {4)/ No error (5)

173.The bank may have followed
(1)/ an aggressive monetary
tightening policy (2}/ but its
stated aim of (3)/ curbing in-
flation have not been
achieved. (4)/ No error (5)

174.Equal opportunities for ad-
vancement (1)/ across the
length and breadth (2)/ of an
organisation will (3)/ keep
many problems away. (4)/ No
error (5)

178. A customised data science de-
gree (1)/ is yet to become {2)/
a standard programme (3)/ to
India's premier educational
institutes. {4)/ No error (5)
Directions (176-180) : Each

question below has two blanks, each

blank indicating that something has
been omitted. Choose the set of
words for each blank that best fits

the meaning of the sentence as a

whole.

176. What you want to digitalise a
city ____ with millions, you
don’t bet __ the odds.

(1) proceeding, into
(2) teeming, against

(3) undergoing, adhere

(4) dangling, for

(5) falling, above

177.The numbers ____by the legit-
imate online music service pro-
viders indicate that growing
number of users are ____ to
buy music.
(1) morphed, ignoring
.{2) labelled, thriving
(3) figured, fanatic
(4) painted, interested
(5) touted, willing
178.1f India is ____ on protecting
its resources, international
business appears equally _____
to safeguard its profit.
(1} dreaded, fragile
(2) stubborn, weak
(3) bent, determined
{4) approaching, settled
(5) obsessed, prepared
179.Brands ____ decision-simplic-
ity strategies make full use of
available information to ____
where consumers are on the
path of decision making and
direct them to the best market
offers.
(1) diluting, divulge
(2) tempting, maintain
(3) imputing, overdrive
(4) pursuing, assess
(5) employing, trust
180. Lack of financing options, ___
with HR and technological

____,make small and medium

enterprises sector the most

vulnerable component of our

economy.

(1) except, loophole

(2) coupled, challenges

(3) armed, benefits

(4) registered, strategies

(5) strengthened, facilities

Directions (181-185) : Rear-
range the following six sentences (A),
(B) (C). (D), (E) and (F) in the prop-
er sequence to form a meaningful
paragraph; then answer the ques-
tions given below them.

(A) The group desired to en-
hance the learning experi-
ence in schools with an in-
teractive digital medium



that could be used within

and outside the class room.
(B) Then the teacher can acton
the downloaded data rath-
er than collect it from each
and every student and
thereby save his time and
effort.
Edutor, decided the group
of engineers, all alumni of
the Indian Institute of tech-
nology, where they found-
ed Edutor Technologies in
August 2009.

(D) They can even take tests and
submit them digitally using
the same tablets and the
teachers in turn can down-
load the tests using the
company’s cloud services.

(E) With this desire they cre-
ated a solution that digitiz-
es school texts books and
other learning materials so
that students no longer
need to carry as many
books to school and back
as before, but can access
their study material on
their touch screen tablets.

(F) A mechanic works on mo-
tors and an accountant has
his computer. Likewise, if a
student has to work on a
machine or device, what
should it be called ?

181.Which of the following sen-
tences should be the FIRST

()

after rearrangement?
()F (2)D
3)A 4c
(B)E

182.Which of the following sen-
tences should be the THIRD

after rearrangement?
A @B
(3)D 4 E
B F

183.Which of the following sen-
tences should be the SIXTH
(LAST) after rearrangement?
(A (2)F
(B}JE (4}B
{5)D

184.Which of the following sen-
tences should be the FOURTH
after rearrangement?

(DA @2 F
(3)E 4)B
(B)C

185. Which of the following sen-
tences should be the FIFTH

after rearrangement?
(LA (2)D
3cC 4E
(B} F

Directions (186-195) : In the
following passage there are blanks,
each of which has been numbered.
These numbers are printed below the
passage and against each, five
words/phrases are suggested, one of
which fits the blank appropriately.
Find out the appropriate word/
phrase in each case.

There is a considerable amount
of research about the factors that
make a company innovate. So is it
possible to create an environment
(186) to innovation ? This is a par-
ticularly pertinent (187) for India
today. Massive problems in health,
education etc. (188) be solved us-
ing a conventional approach but
(189} creative and innovative solu-
tions that can ensure radical change
and (190). There are several factors
in India's (191). Few countries have
the rich diversity that India or its
large, young population (192).
While these (193) innovation poli-
cy interventions certain additional
steps are also required. These in-
clude (184) investment in research
and development by (195) the gov-
ernment and the private sector, easy
transfer of technology from the ac-
ademic world etc. To fulfill its prom-
ise of being prosperous and to be at
the forefront, India must be inno-
vative.

186. (1) stimuli (2) conducive
(3) incentive (4) facilitated
(5) impetus

187.(1) objective  (2) controversy
(3) doubt (4) question
(5) inference

188. (1) cannot (2) possibly
{3) should (4) never
(5) must

189. (1) necessary (2) apply
(3) need (4) consider

(5) requires

190. (1) quantity (2) advantages

(3)increase  (4) chaos
(5) growth

191. (1) challenges (2) praises
(3) favour (4) leverage
(5) esteem

192. (1) blessed (2) enjoys
(3) endows {4) prevails
(5) occurs

193. (1) aid (2) jeopardise

(3) promotes (4) endure

(5) cater
194. (1) acute (2) utilising

(3) restricting (4) inspiring

(5) increased
195. (1) both

(3) combining

(4) participating

(5) also

Directions (196-200) : In
each of the following questions four
words are given of which two words
are most nearly the same or op-
posite in meaning. Find the two
words which are most nearly the
same or opposite in meaning and
indicate the number of the correct
letter combination.

(2) besides

196. (A)consent  (B) nascent
(C)emerging (D) insecure
(1)A-C 2) B-D
(3) B-C (4) A-D
(5)A-B

197.(A) elated (B) eccentric
(C)explicit (D) abnormal
{1)A-B {2} B-D
(3) A-C (4) A-D
(5) D-C

198. (A) abundance
(B) incomparable
(C) projection

(D) plethora
(1) A-C (2) A-B
(3) C-D (4) B-D
{5) A-D

199. (A) purposefully
(B) inaccurately
(C) inadvertently
(D) unchangeably
(1)A-C (2) A-B
(3)B-C (4) B-D
(5)A-D

200. (A)germane (B) generate
(C)reliable (D) irrelevant
(1)B-D (2) B-C
(3)A-B (4) C-D
(5)A-D



(6-10):

Friends| Standard | Favaurite
Subject.

A Sth Maths

B Tth Hindi/English

Cc 5th Marathi

D 6th Economics

E 6th Civics

G Tch Hindi/BEnglish
I Tth Histcry

6. (3)E's favourite subject is
Civics and he studies in
Standard 6th.

7.(1)I's favourite subject is
History.

8.(1) B, G and I study in
Standard 7th.

9. (3] C's favourite subject is
Marathi.

10. (2) G likes either Hindi or
English.

demand fond\ supply [ewonomis]—smo 2 /BN
only part ———>@ ne ki

demand @ supply —9@ mo ta

SHORT ANSWERS EXPLANATIONS
L@ 2@| @ 406 1) g ; Sr) -1\11: it fnfeT
8. (3) 6.3 7.(1) 8.(1) S <R : True
9. (3) 10.(2)§ 11.(9)| 12.(5) T> A : Not True
13.(1) | 14.(2)| 18.(4)| 16.(3) S=0:NotTrueas O >S
17. (4) 18.(3) | 19.(1)| 20.(2) T <R : Not True
21. (1) 22.(2) | 23.(2)| 24.(4)
25.4)| 26.(2| 27.4)| 28.31]| 2 .(WP>L[2]A>N=T
29.{(2)| 30.(1)} 81.{4)} 32.(4) P>A: True
33.(5) | 34.2)] 35.(5/] 36.(1) T=N<A<L
37.(3) | 38.(5)| 99.(5| 40.(9) Therefore, T< L
41.5) ] 42.(1)| 43.(1)| 44. (@ 3.4B>L=0=N>D
45.(1) | 46.(4) | 47.3)| 48.(2) Now, B>Nand D <L
49.(3) | 50.(3) | 51.(2}| 52.(4) 4.5)P<N<A>L
53.(3) | 84.(1)] 55.(3)| 56.(1) Now, A > P
57.(5)1 B88.(1)| 59.(4)| 60. (5) 5.3)F<O=U=N<D
61. (2) 62.(3)| 63.(2)| 64. (4 Now, F<Nand U <D
65.(5)] 66.(2)| 67.(4)] 68.(3)
69.(1)] 70.(8)] 71.(3d] 72.(5)]] (11 -15):
73.(2)| 74.(4)| 75.(1)] 76.(3) economics is
77. (3) 78.(1)] 79.(4)]| 80.(1) L—__]
81.(3)| 82.(2) 83.(1})] 84.(2)
85.(3)| 86.(5){ 87.(1)] 88.(3)
89. (5) 90.(2)| 91.(2)| 92.(2)
! 93, (4) 94.(5)| 95.(2)| 96.(3)
L 97.4)| 98.(3) | 99.(5) | 100. (2)
(10L. (1) | 102. (5) [103. (4) | 104. (1)
:105. (1) | 106. (1) | 107. (5) | 108. (2)
1109, (1) | 110. (4) {111, (2) | 112. (5)
113. (3) | 114. (3) | 115. (2) [ 116. (2)
117. (5) | 118. (5) | 119. (4) | 120. (3)
121. (2} | 122. {(4) {123. (4) | 124. (2)
125. (3} | 126. (1} {127. (2} | 128. {4) 11, (5) The code for ‘money’ is ‘la’.
129. (5) | 180. (1) [181. (2) [132.(3) || 12- (5) The code for ‘supply’ is either
133. (3) | 134. (4) [ 1885. (3) | 136. (3) moor'ta
137. 5 [ 138.5) |130. @ [140. 3y | | 13-V ggi;‘a:ﬁn:’, mo o ta
,141' (2) | 142.(1) | 143. (3) | 144. (1) The code for ‘more’ may be ‘i’
145. (2) | 146. (5) | 147. (5) | 148. (4) 14. (2) and = pa
153. (3) | 154. (5) | 185. (2) | 156. (5) The code for ‘work’ may be ‘tu’
157. (4) | 158. (3) | 159. (5) | 160. (3) 15. {4) The code for ‘makes’ is ‘z{’
161. (3) | 162. (3) | 163. (3) | 164. (3) | | (16~20) : After careful analysis of
168. (2) | 168. (1) | 187. (2) | 168. () the given input and various
160, () | 170. (1) [171. (5) | 172. (3) :ﬁg:n‘t’fﬁ‘:lﬁ a‘;ﬁi‘r‘l‘e’t‘é it ;s
178. (4) | 174, (3) | 176. (4) [ 176. (2) ward and o:e numsi)e!: gr:
177.(5) | 178. (3) | 179, (4) | 180. (2) rearranged. The word which
181, (4) | 182. (4) [183. (5) | 184. (4) comes first in the dictionary is
185. (4) | 186. (2) | 187. (4) | 188. (1) placed at the extreme left
189. (3) | 190. (5) | 191. (3) | 192. (2) position followed by the lowest
183. (1) | 194. (5) | 195. (1) | 196. (3) number. In the second step,
197. (2) | 198. (5) | 199. (1) | 200. (5) the word which comes second

in the dictionary is placed at
the extreme left position
followed by the second lowest
number. The same process is
continued till all the words get
rearranged in the reverse order
of English alphabet and all the
numbers get rearranged in
descending order.

Input : 32 proud girl beautiful 48

5597 rich family 61 72 17 -

nice life

beautiful 17 32 proud girl

48 55 97 rich family 61 72

nice life

family 32 beautiful 17

proud girl 48 55 97 rich

61 72 nice life

Step III :girl 48 family 32 beautiful

17 proud 55 97 rich 61 72
nice life

StepI:

Step II :



Step IV: life 55 girl 48 family 32
beautiful 17 proud 97 rich
61 72 nice

Step V: nice 61 life 55 girl 48
family 32 beautiful 17
proud 97 rich 72

Step VI: proud 72 nice 61 life 55
girl 48 family 32 beautiful
17 97 rich

Step Vil:rich 97 proud 72 nice 61
life 55 girl 48 family 32
beautiful 17

16. (3) Seven steps will be required
to comptete the given input.

17. (4) The third element from the
left end of Step VI is ‘nice’.

18. (3) Option (3) is the step III of
the given input.

19. (1) The position of ‘nice’ from
the left end in the final step is
fifth.

20. (2} '17 is third to the right of
‘family’ in Step V.

21.(1)J + P=J is the son of P.

P % H =» P is the mother of H.
H x T = H is the sister of T.
Therefore, P is the mother of
J,Hand T.

dJ is the brother of T.

22. (2) Option (1)

L % R= L is the mother of R.
R $ D= Ris the wife of D.
D + T= D is the father of T.
T x M = T is the sister of M.
The gender of M is not known.
M is either son or daughter of
D.

Option (2)

L + R= Lis the father of R.
R 8 D = Ris the wife of D.

D + M = D is the father of M.
M x T= M s the sister of T.
It is clear that M is the
daughter of D.

Option (3)

L % R= L is the mother of R.
R% D = Ris the mother of D.
D + T= D is the father of T.
T+M= Tis son of M.,

D is husband of M.

Option (4)

D + L = D is the father of L.
L $ R= Lis the wife of R.

R + M = Ris the father of M.
M x T= Mis the sister of T.
M is the granddaughter of D.
Option (5)

L § D = L is the wife of D.

D + R= D is the son of R.

R % M = Ris the mother of M.
M+ T= Mis the son of T.

M is the brother of D.

23.(2)I + T = Iis the father of T.
T %dJ = T is the mother of J.
J x L = J is the sister of L.
L + K= Lis the son of K.
L is the son of K and hence
Option (1) is incorrect.
T is the wife of K.
So, K is the son-in-law of 1.
I is the grandfather of L and
hence Option (3) is incorrect.
T is the mother of J and hence
Option (4} is incorrect.
J is the sister of L and hence
Option (5) is incorrect.
(4) Option (1)
W % L = W is the mother of L.
L x T= L is the sister of T.
T xY = T is the sister of Y.
Y + X= Y is the son of X.
Option (2)
W + L = W is the father of L.
L x T=> Lis the sister of T.
T xY = Tis the sister of Y.
Y + X= Yis the son of X.
Option (3)
X + L = Xis the father of L.
L x T= Lis the sister of T.
T xY = Tis the sister of Y.
Y + W= Yis the son of W.
X is the father of L, T and Y.
Y is the son of X.
Option (4)
W $§ X = W is the wife of X
X + L = Xis the father of L.
L +Y = Lis the father of Y.
Y + T= Y is the father of T.
So, Y is the grandson of X.
Option (5)
W % X = W is the mother of X.
X + T = Xis the father of T.
T xY = Tis the sister of Y.
Y + L= Yis the son of L.
So, Y is the son of X and L.
(4) R% T = R is the mother of
T.
T x P= T is the sister of P.
P $ Q= Pis the wife of Q.
So, T is the sister-in-law of Q.
(26-30) :

24.

25.

Doctor
Sctentist ¥ Financial
G Analyst
Professorg J Lawyer
L E Chartered
Engineer Accountant
Columnist

26. (2) Financial Analyst G is
sitting second to the right of
E.

27. (4) K is the professor.

28. (3) Chartered Accountant E is
sitting just opposite to
Scientist H:

Columnist M is sitting just
opposite of Doctor F.

Lawyer J is not sitting just
opposite to Engineer L.
Financial Analyst G is sitting
just opposite of Engineer L.
Lawyer J is sitting just opposite
of Professor K.

29. (2] Engineer L is second to the
right of Scientist H.

30. (1) Lawyer J is second to the
left of the Doctor F.
Chartered Accountant E is an
immediate neighbour of
Lawyer J and Columnist M.
Scientist H sits exactly
between Doctor F and
Professor K.

Only three persons - E, J, G
or L, K, H - sit between Doctor
F and Columnist M.
(31-35)
(i) All songs are poems —
Universal Affirmative (A-type).

(i) Some squares are circles —
Particular Affirmative (I-type).

(iii) No circle is a triangle —
Universal Negative (E-type).

(iv) Some circles are not triangles
— Particular Negative (O-type).

(31-32) :

Some squares are circles.

No circle is a triangle.
I + E = O-type of Conclusion
“Some squares are not triangles”. (P}

No line is a square.

Some squares are circles.
E + = O,-type of Conclusion
“Some circles are not lines.” (Q)
31. (4) The Conclusion (P} does not
imply that “All squares can never
be triangles”.
Some squares are mnot

triangles.

@A)



It implies, that some squares
are triangles.

Squares

(B)

It implies that some parts of
squares are outside the limit
of triangles.

Or, “All triangles are squares”.

©

No square is triangle.
Now, take Conclusion (Q).

&)

It implies that some circles are
lines.

Circles

(B)

It implies that some parts of
circles are outside the limit of
lines.

or, “All lines are circles”.

@

No circle is line.
This diagram contradicts
Conclusion II.

32. (4) Neither Conclusion I nor 11
follows.

(33-34) :
All songs are poems.

All poems are rhymes.

A + A = A-type of Conclusion
“All songs are rhymes”. (P}

All poems are rhymes.

No rhymes is a paragraph
A + E = E-type of Conclusion

“No poem is a paragraph”. (Q)
All songs are rhymes.

No rhyme is a paragraph.

A + E = E-type of Conclusion
“No song is a paragraph”. (R}
33. (5) Conclusion I is Conclusion
(R).
Conclusion H is Conclusion (Q).
34. (2) Conclusion II is Conclusion
(P).

35. (5) Some dews are drops.

All drops are stones.

I+ A = I -type of Conclusion
“Some dews are stones”.
This is Conclusion 1.
Conclusion II is Converse of the
second Premise.
36. (1) From statement I

IHHOELL

Bhavna is the fourth from the
left end.

From statement II

Q00000 w ,a o000
g o
HIRELITE
m n

37. (3) From statement I

[RI[a][¥][c][e]

From statement II

el N [al ]
[ [a]v][e][]

38. (5) From statement [

X v/T

V/T

From statement Il

T
u/w v
X
u/w
S
From both the statements
U
X T
S
v

T is second to the left of X.

39. (5) Option (5) may be a strong
argument in favour of retail
store owners.

40. (4) Obviously option (4) may be
inferred from the given
information.

41. (5) If many manufacturing

. companies would shift their
bases to the rural areas of the
country, job opportunies will
be created in the rural areas.
Therefore, migration of people
from rural to urban areas in
search of jobs may reduce.

42. (1) Obviously option (1) is an
assumption.

43. (1) Mobiles phones nowadays
have a lot of fatures and it is
easy to cheat with their help.
So, the three students brought
mobile phones to the exami-
nation hall.



44. (4) The school made announce-
ments that mobile phones
were not allowed in the exami-
nation hall because it is easier
to cheat with the help of mo-
bile phones.

45. (1) Obviously Statement (B)
may be an immediate course
of action for the invigilator.

46. (4) In the subsequent figures
the design rotates through 45°,
90°, 135° ...... clockwise and
alternately one leaflet is
deleted and two leaflets are
added in a set order.

47. (3) In each subsequent figure
the plane of designs rotates
through 45° anticlockwise.
From Problem Figure (1]} to (2)
the two designs from the top
interchange positions.
Similarly, the two designs from
the bottom interchange
positions. From Problem
Figure (2) to (3) the last design
becomes the first design. These
two steps are continued in the
subsequent figures.

48. (2) The following changes occur
in the subsequent figures :

(1) to (2)

(5) to (6) {2) to (3)
T

@ [ ]

(3) to (4) (4) to (5)

\

49. (3) From Problem Figure (1) to
{2) the first two designs from
the top interchange positions
and the other three designs are
inverted and the middle design
moves to the lowermost
position. From Problem Figure
(2) to (3) except the middle
design, all the other four
designs are inverted, the top
design moves to the lowermost
position, the second design
moves to the top position, the
lowermost design moves to the
second position and the third

50.

51.

52.

53.

and fourth designs interchange
positions. From Problem
Figure (3) to (4) the top and
the lowermost designs
interchange positions and the
other three designs are inverted
and the second design moves
to the fourth position. From
Problem Figure (4) to (5) except
the middle design the other
four designs are inverted, the
top design movest to the
lowermost position and the
fourth design moves to the top
position. The second and the
third designs interchange
positions and the lowermost
design moves to the fourth
position. Therefore, from the
Problem Figure (5} to Answer
Figure the same changes would
occur as that have been
occurred from Problem Figure
(3) to (4).

(8) The following changes occur
in the subsequent figures :

(D to (2 (2 to (3
4) to (5) (5) to (6)

AW
PAL

(3) to (4)
[

550

ot

(2) It is obvious from the graph.
Ropar = difference
=40~ 20=Rs. 20/kg
Hoshiarpur = difference
=90~ 30 = Rs. 60/kg
Chandigarh = difference
= 180~ 120 = Rs. 60/kg
Delhi = difference
=130~ 90 = Rs. 40/kg
Jalandhar = difference
=160 - 60 = Rs. 100/kg
(4) Required percentage

=89 100 - 190331y
180 3 3
{3) Amount paid by Ram
=Rs. (83 x 130 + 2 x 90)
=Rs. (390 + 180) = Rs. 570

54. (1) Cost of 45 kg of grapes
=45 x 190 = Rs. 8550
Cost price after discount of 4%
8550x 4
100
= 8550 ~ 342 = Rs. 8208
58. (3) Required ratio = 40 : 90
=4:9=22.32
(1) Required difference
= 20000~ 20000 =0
(5) Required sum
= 10000 + 30000 = 40000
(1) Required number of stu-
dents

15000 x 75 11250
100 -

{4) Total students :
University-1 (201 1) = 25000
University-1 (2010) = 20000
Percentage increase

5000
= 20000
. (5) Difference
Year 2008 = 10 thousand
Year 2009 = 10 thousand
Year 2010 = 5 thousand
Year 2011 = 5 thousand
Year 2012 = 15 thousand
61. (2) Total number of hockey-
players
=68 +80+54+50+36=288

= 8550 -

56.
67.

58.

59.

x100 =25

62. (3) Required ratio = 42 : 48
=7:8

63. (2) Hockey and basketball
players :

School-1 =68 +42 =110
School-2=580+34=114
School-3 = 54 + 28 = 82
School-4 = 50+60=110
School-5=36+82=118

. (4) Required percentage

= 2 x100 = 40

80
(5) Required number of male
Hockey players

36x75
100
66. (2) Gita's average earnings
140 + 200 + 420 + 400
= 4
1160
=" = Rs. 290

(4) Amount earned by Rahul
and Naveen.

=180 +260+ 340+ 160

= Rs. 940

65.

=27

67.



68. (3) Naveen's total earnings on
Wednesday
=420 + 120 = Rs. 540

69. (1) Required difference
=240-200 = Rs. 40

70. (5) Required ratio
=360:120: 160
=9:3:4 ’

71. (3) Difference of percentage
between the total number of
employees in teaching and
medical profession together
and management profession
=15+27-17=25
. Required difference

= 26800 ><—22 = 6700
100

72. {5) Male employees in manage-
ment profession

- L x26800x 22 = 1139
2 100

73. (2) Required answer

3 19
= —X 26800 X —— =
4 100 3819
74. (4) Required answer
= (13 + 9)% of 26800

26800 x 22
=7 100
75. (1) Permanent teachers in
teaching profession

15

2
- 2[26800x212 | -
= 5( 6 ><100)‘1608

76. (3) Total amount of bill paid
by Dev
=123 +150+324 + 134
=Rs. 731
77. (3} Average electricity bill paid
by Manu
315+135+98+116 +131
- 5

= 5896

795

5 =Rs. 159

(1) Required difference

=323~ 143 =Rs. 180

79. (4) Second highest mobile
phone bill = Rs. 345 (March)
of Manu
Lowest electricity bill of Manu
= Rs. 98 (May)

80. (1) Required ratio
=135:245=27:49

81. (3) Required distance
=440 -257 = 183 km

82. (2) Required time = 8.00 a.m.

-6.43am.=1.17am.

78

83. (1) Required ratio
=378:306=21:17

84. (2) Required time = 5.40 pm +
0.21 =6.01 pm

85. (3) Dadar to Vasai road = 42km
Anand to Nadiyad = 440 - 422
=18 km

86. (5) Required difference
=4-{7)=11°C

87. (1) Second highest maximum
temperature of Kabul
= 1 October
Highest minimum tempera-
ture of Sydney = 1 January

88. (3) Temperature difference of
Bhuj :
1 September = 24 - 14 = 10°C
1 October = 35~ 21 = 14°C
1 November = 19~-8=11°C
1 December = 9-2=7°C
1January = -4+ 7 =3°C

89. (5) Required average maximum
temperature

12+9+15+2+5
- 5
43
= —=8.6°C
5
90. (2) Required ratio=9: 15
=3:5
91, (2] Diesel engine cars in state-2
5 (700 X 28)
“14( 100
Petrolenginc cars in state-4
1 (700 x 26)
= 2{ 100

= —5—x196=70
14

= —1— x182 =91
2
Difference =91 -70 =21
92, (2) Petrol engine cars in state-3

3 700x32)
=8l 100

3

= =—Xx7x32=84
8,

Diesel engine cars in state-1
3 14

== 7 — | =42

=7 ( 00 x 100)

». Required percentage

= —Six 100 = 200
42

93. (4) Diesel engine cars in state-
3

1]
]
—
(@)
(98

94. (5) Total cars in state-3

- 700 x 32 =294
100

Petrol engine cars in state-2
9 28

= — X700 x —— =126
14 100

Difference = 224 - 126 =98
95. (2) Petrol engine cars in state-
1

= i><700><-—1£-=56
7 100

~. Required average
56 +126 + 84 + 91
N 4

= 227— = 89.25
4
96. (3) Total possible outcomes
= selection of 2 balls out of 12
balls

12x11
1x2
Favourable outcomes = selec-
tion of 2 balls out of 7 blue
balls =C,
7x6

= =21
1x2

. Required probability
21_7

T 66 22

97. (4) Total possible outcomes

=6x6=36

Favourable outcomes

=(1, 6) (6, 1) (2, 5),

(5.2),(3,4),43)=6

.. Required probability

6 _1
T 36 6
Calculations (98 - 100) :

=66

2

Males P —z' X 240 = 160,

Females = 80

Graduate Males
15x160 _

24
100



Non-graduate males = 160 - 24

=136
Graduate females
- 80x3 =60

4

Non-graduate females = 20

- 98.(3) Required difference
=24-20=4

99, (5} Required answer = 60 + 136
=196

100. (2} Required ratio
=160:20=8:1

101. (1) Michael Clarke was the cap-
tain of Australian team in the
first three test matches of the

- series. Shane Watson cap-
tained the side in the fourth
and final test match which was
played in New Delhi.

-102. (5) State Bank of India, the
country’'s largest lender, re-
ceived Rs. 3,004 crore from the
government as part of the re-
capitalization plan of state-
run banks. After the infusion,
the government'’s shareholding
in the bank has increased to
62.31 per cent,

103. (4) An NRI can purchase up to
a maximum of 5% of the ag-
gregate paid up capital of the
company (equity as well as
preference capital) or the ag-
gregate paid up value of each

- series of convertible deben-
tures as the case may be. To-
tal investment by NRIs cannot
exceed 10% of the paid-up
capital in an Indian company.

104. (1) March 20 is observed as
World House Sparrow Day
(WHSD) to focus on raising
awareness about the decline of
the common House Sparrow.

105.(1) Playing to Win: My Life...
on and Off Court is the auto-
biography of Saina Nehwal.
She has the distinction of be-
ing the first Indian to win a
medal in Badminton at the
Olympics in 2012.

106.(1) In the sport of cricket, a
bouncer (or bumper) is a type
of delivery, usually bowled by
a fast bowler.

107.(5) ‘Women of Vision: Nine
Business Leaders in Conversa-
tion’ is a book by Alam
Srinivas. It is a collection of
freewheeling chats with women

such as television and film
producer Ekta Kapoor; ICICI
Bank Ltd managing director
and CEO Chanda Kochhar,
Biocon Ltd's Kiran Mazumdar-
Shaw and Shobhana Bhartia,
chairperson of HT Media Ltd.

108.(2) Muhammad Yunus is a
Bangladeshi banker and
economist who developed the
concepts of microcredit and
microfinance.

109. (1) Invisible Exports are ser-
vices which are sold to other
nations by domestic firms, like
banking, insurance, and tour-
ism.

110. (4) The euro is the currency
used by the Institutions of the
European Union and is the
official currency of the
eurozone, which consists of 17
of the 27 member states of the
European Union. It is the sec-
ond largest reserve currency as
well as the second most traded
currency in the world after the
United States dollar.

111.(2) The Cash Reserve Ratio is
the amount of funds that the
banks are bound to keep with
Reserve Bank of India, with
reference to the demand and
time liabilities (NDTL} to en-
sure the liquidity and solvency
of the Banks. This proportion
is specified by RBI and could
change from time to time.

112.(5) Pre-Shipment Finance is
issued by a financial institu-
tion when the seller wants the
payment of the goods before
shipment. Pre-shipment or
post-shipment finance can be
provided to exporters of IT and
software services in case of
specific orders from abroad.

113. (3} According to the Banking
Ombudsman Scheme, 2006,
the Banking Ombudsman is a
senior official appointed by the
Reserve Bank of India to re-
dress customer complaints
against deficiency in certain
banking services.

114.(3) In terms of Section 25 of
the Negotiable Instruments
Act, 1881, the expression “pub-
lic holiday” includes Sunday
and any other day declared by
the Central Government by

notification in the Officiz
Gazette to be a public holiday
However, this power was de-
egated by the Central Goverr:-
ment to State Governments
vide the Government of India
Ministry of Home Affairs i-
June 1957.

115. (2) With effect from October 25
2011, saving bank deposit in-
terest rate stands deregulated
Accordingly, banks are free tc
determine their savings bank
deposit interest rate.

116. (2) The Base Rate is the mini-
mum interest rate of a Bank
below which it cannot lend.
except in cases allowed by the
Reserve Bank of India. The
Base Rate system replaced the
Benchmark Prime Lending
Rate (BPLR system) with effect
from July 1, 2010. .

117.(5) In the Finance Act 2006,
Section 80C of Income Tax Act
1961 was amended to include
deposits placed with a sched-
uled bank to qualify for deduc-
tion under 80C. The amount
of investment up to Rs.
1, 00,000 under the notified
deposit scheme will be eligible
for deduction under Section 80
C of Income Tax Act for indi-
viduals / Hindu Undivided
Families.

118.(5) The Repayment holiday is
called moratorium. It is actu-
ally a delay granted in the re-
payment of a debt or in the
fulfillment of another legal
obligation.

119.(4) Indian IT services and
outsourcing giant Infosys got
listed on the NYSE Euronext
London and Paris markets
from February 20, 2013 becom-
ing the first Indian company
to trade on the stock exchange.

* he Bangalore-based company

is also listed on the Bombay
Stock Exchange (BSE) and
National Stock Exchange of
India (NSE).

120.(3) On 19 February 2013 BSE
entered into Strategic Partner-
ship with S&P Dow Jones In-
dices and the SENSEX was
renamed as “S&P BSE
Sensex.” It will use the S&P
brand for Sensex and other



indices
121.(2) A Non-performing asset
(NPA) is defined as a credit fa-
cility in respect of which the
interest and/or installment of
principal has remained ‘past
due’ for a specified period of
time. Once the borrower has
failed to make interest or prin-
cipal payments for 90 days the
loan is considered to be a non-
performing asset.
122. (4) According to the conditions
stipulated by the RBI, the
bank shall open at least 25 per
cent of its branches in
unbanked rural centres (popu-
lation up to 9,999 as per the
latest census). Besides, the
bank shall comply with the
priority sector lending targets
and sub-targets as applicable
to the existing domestic
banks.
(4) The Union Budget 2013-14
announced the proposal to
launch Inflation Indexed
Bonds or Inflation Indexed
National Security Certificates
to protect savings from infla-
tion. These bonds will protect
the principal and the interest
components from inflation
risks.
124.(2) Planned expenditures are
estimated after discussions
between each of the ministries
concerned and the Planning
Commission. The expenditure
incurred on the items relating
to five year plans is termed as
plan expenditure. Such
expen-diture is incurred by the
Central Government.
(3) The Small Industries Devel-
opment Bank of India (SIDBI)
was set up in 1990 with the
mission to empower the Micro,
Small and Medium Enterprises
(MSME) sector with a view to
contributing to the process of
economic growth, employment
generation and balanced re-
gional development. It is the
principal financial institution
responsible for promotion, fi-
nancing and development of
the sector
126. (1) CPU is the abbreviation for
Central Processing Unit.

123.

.25.

127. (2) Joysticks are primarily used
for computer gaming. These are
input devices that are connect-
ed to a computer to manage
game controls such as moving
front, behind and sideways,
shooting or other gaming tasks.
Hardcore games prefer joysticks
over keyboard controls.

128. (4) Storage devices are data
storage devices that are used
in the computers to store data.
CD, DVD, floppy disk and Hard
disk are all types of storage
devices. Printers are output
devices used to prepare perma-
nent output on paper.

129. (5) A handheld operating sys-
tem {also known as mobile
operating system) is an oper-
ating system that operates on
smart phones, tablet, PDA
(personal digital assistant) or
other digital mobile devices.

130. (1) By double-clicking a folder
in the main window or in the
list along the left side to open
the folder {also called left pane
in windows explorer), the con-
tents of the folder gets dis-
played.

131. (2) The CPU comprises of con-
trol unit (CU), memory and
arithmetic / logic unit (ALU).
ALU performs arithmetic and
logic operations and the CU
extracts instructions from
memory (called main memory/
primary memory/RAM) and de-
codes and executes them, call-
ing on the ALU when neces-
sary.

132. (3) A network server is a com-
puter that provides various
shared resources to worksta-
tions and other servers on a
computer network. They are
built with more powerful com-
ponents than individual work-
stations.

133.(3) A hyperlink (or link) is a
word, group of words or image
that appears on a web page
which can be clicked on to
jump to another document. A
link is a part of anchor tag.

134. (4) Each program displays in-
formation in one or more win-
dows - rectangular areas on
the screen that display infor-
mation from a running pro-

gram. Each program's
window(s) can be minimized,
maximised or restored.

135. (3) Disk fragmentation is a
utility program that locates
and eliminates unnecessary
fragments. As operations &
processes are loaded & deleted
from computer memory, free
memory space is broken in lit-
tle pieces. This is known as
fragmentation. The perfor-
mance of computer is affected
by such fragments which exist
in the memory. Thus to im-
prove the performance of com-
puter, disk fragmenter is used
which rearranges files and un-
used disk space to increase the
memory space and perfor-
mance.

1386. (3) A power surge is a period of
abnormally high voltage in an
electrical system, which push-
es too much current (or elec-
tricity) through electrical de-
vices. A brief power surge that
lasts less than one power cy-
cle is called a voltage spike.

137.(5) A word processor is a soft-
ware application that is used
to produce, edit and format
mainly text documents such as
letters, memos, reports, labels,
ete.

138. (5) It is the function of the in-
put devices to take the input
from the user (which is in hu-
man readable form) and con-
vert it into machine readable
form before it is presented to
the computer.

139. (4) Effective selling skill de-
pends on market information
i.e. knowledge of related mar-
kets. it involves details about
customer profile and product
mix.

140.(3) A DSA markets and sells
goods to customers without the
benefit of a retail, online or
catalog store. No educational
requirements is necessary for
DSA position. But DSA should
have good oral and written
communication skills.

141.(2) Lead generation can be
achieved by browsing telephone
directory, yellow pages, inter-
net sites, list of existing cus-
tomers, etc.



142. (1) Five essential qualities of a
successful marketing person
are empathy, focus, responsi-
bility, optimism and ego-drive
(competitiveness). Empathy is
the ability to identify with the
customers, to feel what they are
feeling and make customers
feel respected. A sales person
showing empathy can gain
trust and establish rapport
with customers.

143. (3) Innovation marketing in-
volves applying the principle of
creativity to find new ways of
marketing effectively.

144. (1) Market segmentation helps
to determine targets groups or
indentifying prospects. It can
be resorted to by way of - seg-
menting by customer’s age,
segmenting by customer’s in-
come, segmenting geographi-
cally, segmenting by custom-
er’s tastes & preferences, etc.

145. (2) The purpose of post sales
activities is to support the cus-
tomer in use of the product or
service and thereby continuing
customer satisfaction. It in-
cludes delivering support to
agreed expectations, handling
client feedback, strengthening
client relationships, offering
additional benefits, etc.

146. (5) USP (unique selling propo-
sition) denotes high / unique
selling features of a producti.e
USP helps in creating a unique
place in the mind’s of custom-
ers relative of competition.

147.(5) The competitive position of
company can be improved by
being customer-centric not
product-centric i.e. not view-
ing product in isolation, but
as a part of a full-long lasting
relationship with a customer.
This means offering those
products and services that ful-
fill their needs.

148. (4) A value added service is

something extra that is provid-

ed to a customer at no addi-

tional charge. For example, a

sample product is given for free

when another related product
is bought whether at regular
or discounted price.

(1) For a bank, the foremost

target market for selling their

debit cards is all their existing
account holders.

149.

150. (5) Brand loyalty built through
goodwill means providing con-
sistent good services to their
customers. For example, pro-
viding effective post sales
maintenance & support servic-
es; listening & responding
properly when customer pro-
vides feedback; etc.

157. (4) The word Multitude (Noun)
means : an extremely large
number of things or people;
plenty.

These elements can be com-
bined in a multitude of differ-
ent ways.

158. (3) The word Ubiquitous (Ad-
jective) means : seeming to be
everywhere or in several plac-
es at the same time; very com-
mon; present everywhere.

159.(5) The word Dormant (Adjec-
tive) means : not active or
growing now but able to be-
come active; inactive.

The word Active (Adjective)
means : lively; growing; doing
something regularly.

Look at the sentence :
During the winter the seeds lie
dormant in the soil.

The virus are still active in the
blood.

160. (3) The word Delayed (Adjec-
tive) means : making late;
holding up; deferred.

The word Expedited (Adjec-
tive) means : making a process
happen quickly; working well
without wastage of time.

She is suffering a delayed re-
action to the shock.

167.(2) The word Heralded (Adjec-
tive) means : publicly said;
publicised.

Look at the sentence :

The heralded report is like a
blue print for the future of
transport.

168. (5) The word Outweigh (Verb)
means : surpass; to be greater
or more important than
something.

Look at the sentence :
The advantages far outweigh
the disadvantages.

169. (4) The word Embrace (Verb)
means : to accept an idea, a
proposal etc to include
something.

The word Reject (Verb) means
: to refuse to accept or consider
something.

170.(1) The word Subversion

(Noun) means : destruction:
destroying the authority:
destabilisation.
The word Compliance (Noun)
means : the practice of obeying
rules or requests made by
people in authority.

172. (3) Here, Adjective (gerund) i.e.
and law abiding sectors ...
should be sued.

173.(4) Here, Subject (its stated
aim) is singular. Hence,
curbing inflation has not been
achieved should be used.

174. (3) Here general Proposition is
evident. Hence presetn simple
should be used here.

175. (4) Here, for/in India's premier
educationl Institutes should be
used.

176. (2) Teem with something = to
be full of people.

177.(5) Tout = to try to persuade
people to buy your goods or

services.

178. (3) Bent on = determined to do
something.

179.(4) Pursue = to continue to

find out; to try something over
a period of time.

Assess = to calculate; esti-
mate; to make a judgement
about the nature of something.

180.(2) Couple with = combine
with; to link onething, situa-
tion etc to another.

196. (3) Nascent (Adjective) = be-
ginning to exist; not yet fully
developed.

Emerging = beginning to ex-
ist; to become or appear
known.

197.(2) Eccentric = considered by
other people to be strange or
unusual; whimsical.
Abnormal = different from
what is usual or expected.

198. (5) Plethora = an amount that
is greater than is needed or can
be used; excess
Abundance = a large quantity
that is more than enough

199. (1) Inadvertently = by acci-
dent; without intending to,
unintentionally.
Purposefully = intentionally

200. (5) Germane = relevant; con-
nected with something
Irrelevant = not important to
or connected with a situation

ao



